EARAROBEEIERT — 2 N— IBISH —F

201858190 (&

) 1E#E7TH

i >%4%t 5005T UEwl iR

‘ [Rf&] /J\l'?ﬁ‘ [FEERRE]  — | 4 (&) 1800M &

ABTICOVWTRDTFERERRDHD %,

[A&4] 1 7% :7,500,000 @ 23 :3,000,000 " 33 :1,900,000 3 43 :1,100,000 @ 5 & :750,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
BEE%tT : -10-10- HHBENL (ER)
1 10 @®%¥7/71) 902 o4 mox 1.(5_2).3 11-10-10-10| 36.5 | 94.8 | 3 (4552) %‘HEIZTIEK
LN=Y7514 B:LT1T5347 AH F—
o o, O R E AR :52. -3-3- . . HEER (/)
olalia| 1 K722 (8] # 4| BT s | Seve (a1 | s e
LNNVTSY BFLTIZTY— FEHS
= 44 | AEDH 1:52.8 2-2-2-2 | 37.8| 89.7 | 14 514 | BAE (E#)
38l 5 HE/5Fv—n0 X560 (1 3/4) 42) TRFR-A—ILT TR ()
LTANNTTFH— B:xla—-Xke—t LI 4505
~ N JERBAS o - N 5
al111| b ENTIL [B] %4 | BE 1(752t§s 1-1-1-1 | 37.9] 89.7 | 4 ng? %ng £
L:T7ReS Y L—> B:Trz)—F BA77—L
S oL RS B4 | Bt 1:52.9 11-10-11-10| 37.0 | 89.3 | 7 466 | RERK (ER)
EH 4|2 THFR=Z Je54.0 (7¢) (1) | A=
T4 =TA42nN7 b B:7—b T X J—HrTp—L
S 2 4 | NIBEZ 1:53.0 15-15-15-15| 36.2 | 88.4 | 15 | 464 |%REABA (Ei#)
6l8l15 ®@EQ/ THLY v 57.0 (3/4) (o) | NEEE
RANAF 21— BFTENNYE— Tr—3 Y %4
o4 | HEEA 1:53.1 5-6-4-4 |37.8| 87.0 | 5 496 | /NEfREL ()
7 Y11 T7AJEY 2D g 57.0 (7€) (-p) | ELEBEALR
x40 B:AXHenq s -
\\ ; > 5 | NIXE#A 1:53.1 4-4-4-4 | 37.8| 87.0 | 8 470 | AMREWBZ (BR)
s 2| ®YYHY)—F— 77| ab40 (F4<) (+6) | LEFIR
LI INATA—H— B:YYHhYF—Fy K II75TT— L4
S . . 4 o4 | AEHER— 1:53.1 8-9-7-7 |37.6| 87.4 | 2 462 | BIRE (ER)
97|12 ¥z 7Y E—X2F 57.0 (7€) 42) | @ FrOyrTr—4
AFAd—- K BV T7HI =1~ =Y Tr—LA
[N 8 5 FLRAN :53. -10-11- . . REZE (E#)
Bl 5| vrrEng=sn R i [ Rt el Il R B =52
L:honN=—— B:(4XIa7 48— 2HIT7—L
oy g . > 5 | HEURSE 1:53.4 8-7-7-7 |37.8| 84.7 | 6 480 | AREEL (EH)
118 6 AET7HI-IR 4540 (1 1/4) -12) | A i‘vﬂ‘y 7 7—L
R:xF21zZgrp—X B:Fa—F4d-ILK (B) #A3—-RKL—va>aE77
o a2ST 4 4 | FR—H 1:53. 5-4-4-4 | 38.1| 84.4 | 1 466 | DIALE (RR)
12|59 |BvEZ77 £53.0 (7€) (+4) | AR
R:8— RILRIIL B:5 TR TN HBITr—L
. SN o7 | JIARE 1:53.4 14-13-13-13| 37.1 | 84.7 | 13 480 | AJILUEA (FEH)
1308 7 FTLT—KNHZ— 57.0 (NF) (+6) BILEF
o4O BiAYT—RI14FZ EESN e ]
= A 44 | REGH 1:54.0 5-7-7-7 | 38.4| 79.2 | 12 | 450 |EFEE (EiH)
1408 3 724295y b ¥¢56.0 (3 1/2) (+4) | THAUS
RFLTANZN BA (v A TERYUS
S S > 5 | FRAAH 1:55.4 11-13-13-14| 39.1 | 67.8 | 10 | 506 |HIPAEAI= (3%)
151713 bU¥ A H— 255.0 © o) | @8 ¥
L:d—WRKFPYa— B:SATU—Fa—> HET7— L
@ 21 L
£ 49.9-37.4
NA> 24 L | 12.4-11.1-13.0-13.2-12.7-12.5-12.7-12.1-12.6
® 1—F—@EBIERL
1T=7r= 1,8,14,2(3,9,11) (5,6,12) (4,10,13)-7=15
2ol=5"= (x1,8)14(2,9)11(3,6)12(5,4,10)-(7,13)=15
Ja=77= (x1,8)14(2,9,11) (3,6,12)10(5,4)-(7,13)-15
40 —F— 1(8,14) (2,9,11) (3,6,12) (5,4,10)-7,13,15
[ N5
B 10 690H 714K 10-14 940M e E 6-8 900M JEE 8-10-14 73,240H
# B 10 250M 8-10 11,260H B = 10-14 2,030M 3EE 10-14-8 270,270
14 170 8-14 10,540M B H 10-14 3,090
8 2,170M

THERBS 12 W,




